[ Fake rate vs vertpos | [ Duplicates Rate vs vertpos | [ Pileup rate vs vertpos |

| R R

~ 0.0 . . . = | SEEEEEEEEE LEEEEEEEREES E--'I-I----'I---: -----------

009
008
007
, 006
[ i 0.005
o4—+*++ AR — A 0.004

........................

0.8f--eeeee

fakerate vsr
pileup rate vs

duplicajessatevs

0.6;++++--+-. *

---------- | ERSRSRA £ 0 B O 1O S e

Lot 5T 0 X
o *, + 1L . - . H I .
0.2[ -0 J i ARRRRERRE SERRRERERAR 0.002 0.2[----x--- CREEEEE RN R REEE EECEEEEEEEE

0.001

T I T T T T T
™
[ -+
E ——

Ratio
Ratio

S S 15 UpURRS (U

............................................. bt~

0.5f

H
t
4
¥
t
H
L]
'
T
™TT ._‘IIII
P
=
1
1
3

; ; ok H H ;
1 10 0? 1072 10 1 10 0? 1072 10t
track ref. point r (cn%) track ref. point r (cml)

UéIVI 11 mKI—i[-UéIVI OlalsZ

DOM_TT  mkFit-DOM_new132
Fakeratevsy __,_ _ DOM_TT_mkFit-DOM_newfast132

~ 0.0

1p------ " """" """" """" ‘ """" “ » | R R R R R R R CEREEED
L L R S MR [

...............................................

C | I SO S s 0 A B.008
: : : : : 007
: : : , : 006
H H H H H °
O 0.005

fakerate vs z

pileup rate vs z

o
(o]

!
uglicates

S | I | 0.003
0.2+t Hﬁm’.ﬂﬂ* | KA 0.002
S 0.001
N SV SOUUR VOV SR DO SO o

7 SR S [ ------ T S . 0004

Ratio
Ratio
Ratio

¥/ =20 10 0 10 20 30 B0 =20 —10 0 10 20 30 B =20 10 0 10 20 30
track ref. point z (cm) track ref. point z (cm) track ref. point z (cm)

[ Fakeratevs.simPVz | [ Duplicates Rate vs sim PV 7 | [Pileup rate vs. sim PV z |

N 0f————————————————— N 0.01— : N T —
> E : : : : : : > E : : : : : > i :
Q-0.45F -5 P AR AR AR AR 00.009F -~~~ P SRR AR AR a L :
€ E.o: : : : : : ; E : L U S £ r
® 04F S S I S S S 7
20356 9.007F------ FRREREEE PRREELEE SRR IERETERL LR 2
@ E @ E : : : : : @
S 0.3F .006f -+ 5+eeee b e S
e E n E : : : : : o
®0.25F 9,005+ 2
E 3] E : : : : : =
0.2F D.004F------ CRPERREY SRR e
E S E : : : : : L
0.15F R O I ST S e S A
0 fit ] 0002k 02f bbb b
0.08F-+--bo b bbbl R | RSSO SURRROO RS NS S S A
T 11 [+ TI: IS T r : : 14
o : : : ] 24 [ : : : : : 24 [ : g ; : g
[ SRR B SR an- 0.5 ------ ........ ........ ........ ....... 1_—‘- g *+*+*+ TP +4=1
0 -15 -10 -5 5 10 15 20 %60 —40 —20 0 20 40 60 0%6 =15 -10 -5 0 5 10 15 20

0.95;

Sim. PV z (cm) Sim. PV z (cm) Sim. PV z (cm)



	Contents
	Page 1


